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QAT 397 :
() FATF-TTH FA30 T &1 G4 J97 SifGard & |
(i) FAF J97 & Hk 3G G 7T 7T &

(i) F99 T&1 1 T8 % 37 oT-ITIT J97 &1 JoIF F97 1 3% F &

(iv) T97 G&T 9 T 20 TF A% J97 8 3 FT &1 379 G % J97 & IR 80 T T 37feh
&7 Tel &Il FMeT |

() F¥TGEI219 28 T ToUF G975 3 FT &1 576 G Jedah §97 7 SR 100 V=51 T 371
&7 781 &I aeq |

(vi) T¥T & 29 3R 30 FIETT SR YT & HHIF a6 97 T 3 31 & &1 §% T3 B

& dlg, HFEA] F FT-YIEIH & 3757 7] B GHT |

General Instructions :
(1) The question paper has 30 questions in all. All questions are compulsory.
(i1) Marks are indicated against each question.

(iit) Questions from serial number 1 to 8 are Very Short Answer Questions. Each question

carries 1 mark.

(iv) Questions from serial number 9to 20 are 3 marks questions. Answers of these questions
should not exceed 80 words each.

(v) Questions from serial number 21 to 28 are 5§ marks questions. Answers of these

questions should not exceed 100 words each.

(vi) Question number 29 and 30 are map questions of 3 marks each from History and

Geography both. After completion, attach the maps inside your answer-book.
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1. 1861 H Tehichd secit ol el fohd =Ta foparm T o ? 1
3YAT

o N

faIg) =1 g fha

1868 H faardam o whiard fiaiee (fagml o

Who was proclaimed the King of United Italy in 1861 ?
OR
Who led the ‘Scholar Revolt’ in Vietnam in 1868 ?

2. UHHEH U 1 wEwE Al i ¥ ? 1

Why has aluminium metal great importance ?

3. i faxiv o <1 fed wEl & M fafaw | Yt e=1

Name any two sectional interest groups.

4, TGS HEAT ST FEATT T HREM 3 &5 | i Tnfd 3l € sl 3= 980 1
e 3 HTE & fherd € 2
Why do MNCs set up their offices and factories in those regions where they get
cheap labour and other resources ?

5. A ATIR GRI ST 1 IS &7fd TgaTE T2 ©, O fhe Squiierm s1feR & of=iq 1
€ THAM Dl U o ToTT ST AT ST Hehal © 2

If any damage is done to a consumer by a trader, under which consumer right

one can move to consumer court to get compensation.

6. TAE TG IR SIS el | Toh TR T hifoT | 1

Distinguish between pressure groups and political parties by stating any one
point of distinction.

7.  9Rd A IgICAd YOI ohl Rl STAAT 2 1

Why did India adopt multi-party system ?

32/3 3 P.T.O.
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10.

11.

12,

13.

32/3

AR T IRER TI=TRer &5 o R0 9 afed 1 &d © ? 1

Why are most of the poor households deprived from the formal sector of loans ?

ad § frenfien faerd & R Scael qaferona et sl 8 il & fau g
T U gy | 3x1=3

Suggest any three steps to minimise the environmental degradation caused by
the industrial development in India.

& TerHifaes 9et 9 @ AR €2 & TeiHifaes 91el’ it Al W i
F foru erervaes widl &1 Seol@ IS 1+2=3

What is meant by regional political party ? State the conditions required to be
recognised as a ‘regional political party’.

SHfed T8 THE T8 7 ST 1A YUl 1 G0 HITST | 1+2=3

What are public interest pressure groups ? Describe their functioning.

TSR H IS S GReN & fau fem iR fafmi &t srevasa et 21’ 5w
HYA ! AT 33 | 3x1=3

“Rules and regulations are required for the protection of the consumers in the
market place.” Justify the statement with arguments.

‘T Fo ok el TR AT SUANT 9 W7 | ol bl oad IR Hell o [Tehtd o
G II9oid A i faehfEd T &l G Savaeshdl ¢ | $9 Socid GHe & R
% foT g T ST FEIET iR 3% TR hifer | 3x1=3

‘Consumption of energy in all forms has been rising all over the country. There

1s an urgent need to develop a sustainable path of energy development and
energy saving’. Suggest and explain any three measures to solve this burning
problem.
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14. *1830 &1 <91 I § AR oMl swicrsal o s’ | qehf dfed oM =1 gfte
I | 3x1=3

areran
“2 = T e 9 ol & favg gg # fagatiel & fa e fag

B3| okl Gfgd oA ot gfe Fifeg |

“The decade of 1830 had brought great economic hardship in Europe”. Support
the statement with arguments.

OR
“The Ho Chi Minh Trail became advantageous to Vietnamese in the war against
U.S.” Support the statement with arguments.

15. S H ' TEQE STQIe ' o SR fohd YehR 1 HUST (IR fohdll T o1 ? SHeh! I&=A
forgrordnati shl Tute HifST | 1+2=3

What type of flag was designed during the ‘Swadeshi Movement’ in Bengal ?
Explain its main features.

16. ‘3788 H 9FTH HSiGd 1 HEwH T o foemRl $iR WS O R # o1t e 3
STIYRN ot "' deh Rt koA i Gfte HifST |

“The plantation workers in Assam had their own understanding of Mahatma
Gandhi and the notion of Swaraj”. Support the statement with arguments.

17. USHIfder T o diF SEehl ol TO¥H0T ShifSIu | 3

Analyse the three components of a political party.

18. R H U4 ford TR wifuq fort 90 € 2 To= shifsu | 3

How are consumers exploited in the market place ? Explain.

19. ‘IUHKIIST o STHAY o HRUT STHKI STl w1 IREY T 1"’ Tohl Aigd keI w1 3

N N
qEIEd Selled |

“The consumer movement arose out of dissatisfaction of the consumers”. Justify
the statement with arguments.

32/3 5 P.T.O.
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20. WG H MeNfiTer faerm@ o FR0 Ics YAiaRuiy fTetor ol %1 ® & fau =18
T 3T e | 3x1=3

Suggest any three steps to minimise the environmental degradation caused by
the industrial development in India.

21. TR &=k & RN | fhd THR T fREHI IR ASIGU o AT AWRRT ST
S Gl § 2 IS Ui U I | 1+42+2=5

How can the formal sector loans be made beneficial for poor farmers and
workers ? Suggest any five measures.

o

22. <9 % fafyer v ° gfawa 31a= STeiar fod i i | 3T ? SeEn 9fgd 5

T TSI |

How did the Civil Disobedience Movement come into force in various parts of

the country ? Explain with examples.

23. GAR Fersl &l & o § aFfiehd HIT I Yok ol bl T oo T shifw |
Classify communication services into two categories ? Explain main features
of each. 2+3=5

24, YRA SefeHeEe W Ivalehiul o YHE] &1 IS0 Higd 99 Hife | 5x1=5

Describe the impact of globalisation on Indian economy with examples.

25. ‘*SIITCeRT kT AT ST STTSIET Al YIcHTEd hid | cAlehdiiseh oarsel frdl ST e 5
Tl & TR AW 21’ HUF &1 AHHTT 32U |

“Democracy stands much superior in promoting dignity and freedom of the

citizens”. Justify the statement.

26. 9RA H Te& qReed 214 Wt a1 Iiesd &t oTue i glauses ¢ 1"’ i |fed
39 HYA 1 U I 5x1=5

“Roadways still have an edge over railways in India.” Support the statement
with arguments.
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27. ‘‘liRad o fATT TSHITfae Sl o1 BFT 37999 Od & I’ 39 heH o1 Seredvl 9fegd
foveryur swifsw | 5x1=5

“Political parties are a necessary condition for a democracy”. Analyse the
statement with examples.

28. ¥ H AUiferad A USas sl A% foRan o1 W= TR &9 H 399 shif<eR]
fagr=i &1 waEe foran a8 0 e sifys qeheTd 3R FIa a9 Wk | T

fed 39 HUT h1 faveryo &It | 5x1=5
3UAT

“feen H =t st amatsti A fagaam @ faueE feen faae ooy =

A 1 S@en 7 foadTm # g &7 § 9 fean )’ qof dfed 39 e H

forgeraor sifs |

“Napoleon had destroyed democracy in France but in the administrative field
he had incorporated revolutionary principles in order to make the whole system
more rational and efficient.” Analyse the statement with arguments.

OR
“The peace negotiations in Geneva followed the division of Vietnam that set in
motion a series of events that turned Vietnam into a battle field.” Analyse the
statement with arguments.

29, T &I A, B 3R C YR & faU T4 Teifaes War-aHfes (I8 9 W), | sifea g
T 1 T A @ Frafafed SHERt w5t geEar § Teeie o) ST 9' M
e o Eist 73 Waeli ) fafaw . 3x1=3
A, T% IH ST gt vl e Aergdl 3 g fwa o
B. 9% TN Sl AN ele a17d o ¥ ¥ig ¢
C. o8 TN el YRdF T hilkd <1 STfaeE gar o |

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following
information and write their correct names on the lines marked in the map :

A. The place where cotton mill workers organised Satyagraha.
B. The place related to the calling off the Non-Cooperation Movement.
C. The place where the Indian National Congress Session was held.

32/3 7 P.T.O.
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frefafad Ted haa gleanea gienfelar & faw Ie= S 29 & T WE :
29.1) 39 TR &1 A fafan, 7 ¥t woer e Aol 3 gemE fha o
(29.2)  STHEAN TSI i A9 o4 § GHE¥d TH o1 AW fafaw |
29.3)  feuweR 1920 # WRAT T KT 1 TS el g o1 ?

Note :  The following questions are for the Visually Impaired Candidates only

30.

in lieu of Q.No. 29 :

(29.1) Name the city where cotton mill workers organised Satyagraha.
(29.2) Name the place related to the calling off the Non-Cooperation
Movement.

(29.3) Where was the Indian National Congress Session held in
December 1920 ?

ne o

IR o U 7T TerHifaes War-wmfast (728 11 W), | Fefafed =1 sugesw == 9
TYIET TR 37k A fafau : 3x1=3
A, dd & - feeg

B. gl 9 39 947 - fyag

C. YqE §Ygl U - il

On the given political outline map of India (on page 11), locate and label the
following with appropriate symbols :

A. 01l Field - Digboi

B. Iron and Steel Plant - Bhilai

C. Major Sea Port - Kochi

frefafad wea Faa gleanfera aeienfelar & fau ye 9@ 30 % WH W E
30.1)  femeE 9o & form Toa H fee@ €2

(30.2) 39 =¥ w1 9 fafgy, Sl faar «er 3T soqra 9+ froq ® 1
(30.3) WA o Y&l de W feerd ol <faroft gy et gw o1 9 fafeu

Note :  The following questions are for the Visually Impaired Candidates only

32/3

in lieu of Q.No. 30 :

(30.1) In which state is Digboi oil field located ?

(30.2) Name the state where Bhilai Iron and Steel Plant is located.

(30.3) Name the Southernmost major sea port located on the eastern
coast of India.
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